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201 LBt | 10,000 5,000 5,000
= 5,000
& 1,500
= 3,500
01 AP 22| d| 10,000 5,000 5,000
OgBt=24| 10,000
—LogdxelAg ey 10,000,000 10,000
= 5,000
& 1,500
= 3,500
307 2izto| & 407,750 407,750 0
=2 203,875
& 61,162
= 142,713
11T AISIEXAIEEX 407,750 407,750 0
OOyt MEols
11,990,000& 11,990
= 5,995
& 1,798
= 4,197
O XA (204Y) 395,760,000& 395,760
= 197,880
= 59,364
= 138,516
=32 32,032,779 23,733,838 8,298,941
= 28,829,501
= 640,656
= 2,562,622
301 et A= 32,032,779 23,733,838 8,298,941
= 28,829,501
= 640,656
= 2,562,622
01 AMfSIEXEE 4562 32,032,779 23,733,838 8,298,941
OJIE=AZ(14,522H) 32,032,779,000& 32,032,779
= 28,829,501
& 640,656
= 2,562,622
P PN 273,600 273,600 0
301 LBt A= 273,600 273,600 0
01 Al E & A 452 273,600 273,600 0
O&x2 X 20,000 * 1,140Y¥ ~ 12€ 273,600
eHZAY 2H 27,714 26,000 1,714
& 11,086
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201 2Et24A Y| 24,714 15,600 9,114
& 9,886




A AMIEX
o= N
Sl Co=XSA CERED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
= 14,828
01 AP 22| H| 24 714 15,600 9,114
P2HAZAY S (ZAHMAIY)
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= 9,886
= 14,828
307 QI2t0| ™ 3,000 10,400 AT ,400
& 1,200
= 1,800
11T A EXAIEEX 3,000 10,400 AT,400
OR2HZAY 2 (S XAMALE) 3,000,000 3,000
= 1,200
= 1,800
e A 29 13,800 13,800 0
307 2I2t0| & 13,800 13,800 0
11 A EXAIEEX 13,800 13,800 0
QA 2H(1A) 13,800
— A 2,5009 * 209 * 246 12,300
—2222 2 WA 600,000 600
— 24 900,000 900
Lo gaA M= 258,650 255,200 3,450
201 Yet2 Y| 45,900 45,900 0
01 AP 2t 2] H| 45,900 45,900 0
OF=Z2AY 22324 T2 (909H)
2,000 * 90 = 255 45,900
307 gizto| A 212,750 209,300 3,450
11T A EXAIEEX 212,750 209,300 3,450
OHs=E HASMIEEQ AAIHHEY AFY
3,500 = 230¥ * 260 209,300
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ColAB A 1,465 1,465 0
307 glz2+ol & 1,465 1,465 0
01 922724l 1,465 1,465 0
OLQAAXE 1,465,000 1,465
SHLQ Moy XA Ee D 15,000 15,000 0
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11T AL SXAEE X 15,000 15,000 0
OSHEZQ Mgy =2l
50,000 = 300 = 13l 15,000
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307 21201 A 625,063 811,826 A 186,763
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[ia 516,301
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| = 516,301
LOIAZAIE 2HHI A& 283,868 550,000 A 266,132
= 198,706
= 42,581
= 42,581
307 2izto| A 283,868 550,000 A 266,132
= 198,706
& 42,581
= 42,581
10 MM SAANEEHESIGHEX 283,868 550,000 A 266,132
OLolAdZAIE 2dd| X (1IHN)
283,868,000 283,868
= 198,706
= 42,581
= 42,581
MO EXAE 29 1,102,994 1,026,300 76,694
& 110,300
= 992,694
307 2iz2to| A 1,102,994 1,026,300 76,694
& 110,300
= 992,694
10 MM SAANEEHESIGHEX 1,102,994 1,026,300 76,694
OMIt==EXAE X270 A)
1,102,994 ,000& 1,102,994
& 110,300
= 992,694
LOSXAIE SAX =% 288,600 288,600 0
= 144,300
= 144,300
307 2Iz2to| A 288,600 288,600 0
= 144,300
= 144,300
10 MM SAANEEHESIGHEX 288,600 288,600 0
OLo=ETAE SANEE111E)
288,600,000& 288,600
& 144,300
= 144,300
LOsEXgRFN 111,965 75,125 36,840
201 Bt 1,500 1,500 0
01 AP 22| H| 1,500 1,500 0
Ogst=2H| 1,500
—LoSTYR B (HAY HES)
100,000& = 53] 500
—JZ=AHASAIY &40 &
50,000& * 204 1,000
202 04d| 9,000 10,800 A 1,800
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01 2L Hl 9,000 10,800 A 1,800
OLosXgex=a 150,000& = 5Y x 12& 9,000
203 & 2 = &4 2,500 500 2,000
03 Al =& 2 = X H| 2,500 500 2,000
OIS X A=A 250,000& » 103 2,500
307 2iz2to| & 97,465 60,825 36,640
02 QIZIA AAIE E X 2,000 0 2,000
ORELEAHAAZ AL H| 2,000,000& 2,000
03 AU EESAHES 43,200 31,600 11,600
Ostolg&#EEZXE AFEH K&
43,200,000 43,200
04 CIZ2tSHALALS B X 23,040 0 23,040
OXNYG SN SE=XH 23,040,000 23,040
11T A EXAIEEX 29,225 29,225 0
OLQlAaEMHEH 29 29,225
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402 212t X 20| & 40,000 77,300 37,300
01 QA XSAIEE =X 40,000 77,300 A 37,300
OZzY oz 8 2EXNE 40,000,000 40,000
dze s&EI| el X3 758,130 689,880 68,250
= 189,438
& 294,371
= 274,321
307 2Iz2t0| A 758,130 689,880 68,250
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o 294,371




SH: AS =X D
B Col=K Y

Sl Co=XSA CERED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
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11T A EXAIEEX 758,130 689,880 68,250
OoZzd s&I| H2dl XN 758,130
— A2 SEI| eyl X (4000HA)
618,880,000& 618,880
= 157,200
= 262,777
2 198,903
— A2 22H| X (40000 )
139,250,000 139,250
2 32,238
& 31,594
= 75,418
oIt B T2 )Y 29 50,000 50,000 0
307 212t0| & 50,000 50,000 0
11 A EXAIEEX 50,000 50,000 0
OO d2"¢ Z2)d 29
40,000,000 40,000
OdZE 3lHW=H| 10,000,000 10,000
LolnaAAxs 6,000 3,600 2,400
307 2iz2to| A 6,000 3,600 2,400
11T A EXAIEEX 6,000 3,600 2,400
O=2X & Lonas 24 6,000,000& * 10 6,000
A2 g4 =4 49,225 46,885 2,340
307 gizto| A 49,225 45,625 3,600
11T AISIEXAIEEX 49,225 45,625 3,600
OZzE=3sloaz )| Xt i X 29,225
- Jl=22 23,400,000 23,400
— 48 = 2,225,000 2,225
— &= 300,000& » 12€ 3,600
OLYUAl al22s2 X3 50,0008 » 400H 20,000
ENLQ ZBEAHFALE A 187,400 116, 100 71,300
& 30,000
= 157,400
307 QI2t0| & 85,400 50, 100 35,300
06 282 5,600 4,200 1,400
OSHLUSSHE=L EEIILXA
200,000& = 28J0 A 5,600
10 A SXNANEEHESIHEX 79,800 45,900 33,900
OEHLAZBSHFTANE 29H|
500,000& * 2801 A~ 14,000
OEHLAZSHFALE LhEr]
1,600,000 = 28I A 44,800
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OSSN USSHFAE HS ¢
1,500,000& = 1400 & 21,000
401 Al HIZ 2018 102,000 66,000 36,000
= 30,000
i 72,000
01 A& HI 102,000 66,000 36,000
OSHEUAISHFAILE JIEIR =
102,000, 000& 102,000
< 30,000
e 72,000
LOIoHA X2 AHY 58,740 0 58,740
201 ¢et24] 58,740 0 58,740
01 At 2t 2l 58,740 0 58,740
O e8| 58,740
— XIOH<=Ql GPS S I X &AL
7,7002 * 100 = 12& 9,240
—S=HLQ S0S A E XNEAS
5,500% * 750 = 12& 49,500
HEsl &I HolE=WE 10,000 10,000 0
307 glz2tol & 10,000 10,000 0
04 QIZFHALAIH B = 10,000 10,000 0
Ogeal &I HolE=sUal
10,000,000& = 13l 10,000
z)| A0 ESHE 10,000 10,000 0
307 glz2tol & 10,000 10,000 0
04 QIZFHALAIH 2 = 10,000 10,000 0
OZ=Jl =AEZSUE
10,000,000& * 13l 10,000
O OlE J18 &AL 10,000 10,000 0
307 gl2tol & 10,000 10,000 0
04 DIZHHALALSE E X 10,000 10,000 0
O0B0Ig D18 &AL 10,000,000& * 13l 10,000
LOoI=XAE 2el 5,419,685 4,378,948 1,040,737
= 1,750
< 525
e 5,417,410
Lol=Rzg 2 29 417,007 388,676 28,331
101 @124 dl 23,296 22,044 1,252
04 JIZHHZ2XREES 23,296 22,044 1,252
Okeol=Rsa Alg o2 17,158
—Jl=s 44,6403 * 18 = 200 12,946
- 593294y 44,6402 * 1% * 412 1,831
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& ZQSEXAIE e (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
—4AHEE = 13,796,080& = 0.103 1,421
— I =l 80,000& = 4%¥ « 33| 960
Oko=Rsl2 3d &8F
86,6803 * 3H » 3« 781
Ookeol=Rsa Ag 44 6403 * 4H * 30 5,357
201 Let24d] 302,615 297,436 5,179
01 At 2teltl 185,580 184,060 1,520
Oget=&H| 32,210
—SANEXN E NRE RUS MH
2,000,000 2,000
—2FSXE FAE 12,0008 x 708 * 13 840
—ZAEH AME uH
200,000 = 2CH = 13l 400
—HILALE FU(HEZ 5)
200,000& * 53 1,000
~HAZT Y FYEE Y
300,000& * 43 1,200
— S DD] A=A 120,000& * 43| 480
—S&EX 2L 8,000& * 408 * 43 1,280
—MgoIsE 7Y 2,450&3 = 20001 = 53l 2,450
—EANA7Y 500,000& =« 23l 1,000
~D20SY AREE Y
150,000& * 43| 600
~ 228 202 Y AKX M
300,000& * 43| 1,200
—BAOKZ A S) BAo HIE
100,000& * 43| 400
—AN&E8 3 FH 500,000& * 13 500
— &= 2aldl 50,0003 = 3CH = 123 1,800
—goAs Hd=z 150,000& * 53l 750
KB HAE BA U 2FAN £22
12,0008 * 50& * 23l 1,200
—AYANE S LR ARUY 242
220,000 * 12& 2,640
—AYANL SRHUFY 242
700,000& * 13 700
—dojgrd e RUd 2
230,000& = 12& 2,760
— 2| g LU 228
100,000& * 12& 1,200
— 52 EIJIZA =3  200,000& * 13 200
—SX2RAZHAAE SAH|
180,000& * 12& 2,160
— WSS ZEH BloldAA 2
25,000& » 302 750
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& ZQSEXAIE e (=& J)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
—StEA LEH Z HMEMH 222 E 224
175,000& * 128 2,100
—dA=EANI EH FE 100,000& * 32l 300
—2ZeZE EY JtECX 7Y
300,000& = 504 1,500
— I8l HIEA =28
800,000& = 14 800
Ok =Rz 2 dZ2AY 29 71,200
— 437 180,000& » 90X 16,200
— 24Hl S 55,000, 000& 55,000
O<fIEu=H| 350
— At ¥ AEEFHS F5U=S
250,000& * 13l 250
~FRANY AYN AMDS
100,000& * 13l 100
o=z2g=¢ 75,820
—Lomagt
35,0003 = 2A[2F = 8 x 11E 6,160
— MOl /Ab 2 Xt EE
35,0003 * 2AI2F = 8 » 11& 6,160
—SSuatt
35,0003 = 2Al2F = 8 » 11E 6,160
—AHHA(EF)
35,0003 * 2Al2t » 8 » 11E 6,160
—AHHA(EZ)
35,0003 * 2Al2F = 8 x 11& 6,160
— s anay
35,0003 = 2Al2t = 8 x 11& 6,160
ey I
35,0003 * 2Al2F = 8 » 11& 6,160
— A2 e
35,0003 * 2Al2t = 8 x 11E 6,160
— AP A
35,0003 = 2A[2t » 8 » 11& 6,160
— g0l x=e
35,0003 = 2A[2t = 8 « 11& 6,160
— Z3 S 35,000& = 2AI2t » 82 = 11& 6,160
—H24 22 Reluapt
35,000& » 2AI2t = 8 « 63 3,360
— o=l 2 w2 H 200,000& = 43| 800
— Lo=X32 LAY 50,000& = 50 2,500
—LUSNHY 2YAE AKX £+
70,0003 x5H *43] 1,400
oul=l 6,000
— D2 )HS2IG(AHHEA, B2, Ldua S
) 100,000& * 60H 6,000
02 8323l 117,035
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B Col=K Y

S So=SXAIAL 2 (&2 &)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
03322 % MA 43,293,000 43,293
OA & &Hl XYl 18,000
— AN&E2SgX 22l 4,000,000 4,000
—JIAHA &L 2aHel& sA2elyl
1,500,000& 1,500
—ANEES &M 3,000,000& 3,000
— e A L M 2,000,000& 2,000
— =g TEH |22 1,500,000 1,500
—Lo=sxga 22(rel) 3o
6,000,000& 6,000
(@)sK=3] 55,742
— 2,02 (A4 1,6843 = 80¢ * 95¢! 12,799
— S (A &) 1,684& * 60 * 552 5,558
—HAS(HY L AFHA)
1,684& = 1854 = 120 37,385
202 04 b] 3,600 3,600 0
01 2LHOHI 3,600 3,600 0
orosizad 29 150,000& * 29 = 12& 3,600
206 M = Hl 14,296 14,296 0
01 M= bl 14,296 14,296 0
LolsXga g 29 Mg 7 5,850
—ANolra 248X S)
300,000& * 43| 1,200
—ERNA 2H(ERZ2) 250,000& * 63l 1,500
—EZE20d 29(2s=8 5)
150,000& * 53] 750
—HOIE=Zna 29 150,000& * 33 450
— g (EA=)ns 29 150,000& * 33 450
—2EHINA 2H(DM S)
15,000& * 50 x 23] 1,500
OAM A THER(HF S) 250,000& * 43| 1,000
OE4 HA2Rel A M F¢ 7,446
— A2l a JtA 40,0008 * 28 * 113 880
— 212w ASHE 6,566,000& 6,566
301 YU B A 1,200 1,200 0
09 HAIAHIEA = 1,200 1,200 0
OAHHA E=2, HOIES ., &7 S A &I}
20,000& * 60YH * 13 1,200
401 Al HI 2L 2 0HHI 43,000 40,000 3,000
01 Al &bl 43,000 40,000 3,000
FUELY HIE B A 10,000,000& * 14 10,000
OHOIEEE AIRA &I A B AL
,000,000& = 14l 5,000

_14_




SH: AS =X D
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el Lol=XAL el (sl &2)
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OsHEAT ol o{2101& XIS (4HA)
10,626,000 10,626
= 5,313
= 2,125
= 3,188
B A4 w2 19,400 4,998 14,402
= 9,700
& 3,880
= 5,820
307 giztol A 19,400 4,998 14,402
= 9,700
& 3,880
= 5,820
11T AISIEXAIEEX 19,400 4,998 14,402
OBSAE WIHDPAH (199A) 19,400,000& 19,400
= 9,700
= 3,880
= 5,820
SANE SSHA AHFSHH| 90,000 59,678 30,322
= 30,000
= 12,000
= 48,000
307 212t0| & 90,000 59,678 30,322
= 30,000
o=} 12,000
= 48,000
10 M SXNAEEHESIHEX 90,000 59,678 30,322
OX29d| (250 A) 90,000,000& 90,000
= 30,000
= 12,000
= 48,000
SANEI)sE2S 34,000 34,000 0
= 17,000
& 6,800
= 10,200
402 SI2F 20| M 34,000 34,000 0
= 17,000
&< 6,800
= 10,200
01 QIZEXIE2AIE 2 X 34,000 34,000 0
OB A4 Zdldl X& 2,000,000& * 204 4,000
= 2,000
o= 800
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2N
X ZH -
L= B

el

I

Al
28 SXAMHA WS
o] EFAHIA MSB (Sl & &)

02 2 =
UA 0x ton

SA-3H-S(3AH) - MRAS - BES Off &t 24

=

M
2Hm
==
£l
Ol
0y

HJ

,200
OE=AE HE= A& 30,000,000& » 10H2 30,000
156,000

,000
9,000

o
o

FSANESAXL BE+0S 540 800 A 260
270
108
162

HH A

307 glztol & 540 800 A 260
270
108
162

HH A

NAFEE £ 540 800 A 260
NESAT E+1=(8Y) 540,000 540
270

108
162

Mo

QIZtEFAIE K& 117,650 10,900 106,750
23,555
94,095

EURLY

307 21201 & 117,650 10,900 106,750

23,555
94,095

M

HE2IHEX 99,400 10,900 88,500
OQItESAIE gl K& (170 x)
9,400,000 9,400

3,760
5,640

M H

OEIAES A2oielold HAF &2Hl X&
90,000,000& 90,000

11,160
78,840

A S XA E = 18,250 0 18,250
ORnESAIL &3ME 2,000,000& * 290 A 4,000

2,000

2,000

M H

oY

UL

OCEO0ld A WA XI&

50,000& = 5& » 5¢ 1,250
625
625

UL

OOBI0l ADIE QHAEXIZ0 AHHIA =

10,900,000 10.900
4,960
5,940

UL

Oooegold =

J@

A

ol

otxt B30 XA

2,100,000 2,100
,050
,050

UL
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A AMIEX
HE: 04 B =SXAMUA W3
Ee: 2EO BEFAHA HE (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
BAE L SAMIN XS 186, 120 180,740 5,380
& 41,300
= 144,820
301 LBt A= 186, 120 180,740 5,380
&< 41,300
= 144,820
01 Al E & A 462 6,520 5,940 580
OBSA4 B8 2 X< (1,200H)
6,520,000& 6,520
& 3,260
= 3,260
11 JIEtE A= 179,600 174,800 4,800
OBSAE AR HLRIHE (200H)
179,600,000 179,600
& 38,040
= 141,560
A& 0102 Ols =X 1,489,140 1,627,843 A 138,703
= 967,941
= 208,480
= 312,719
301 LBt A= 1,489,140 1,627,843 A 138,703
= 967,941
= 208,480
= 312,719
01 Al E & A 462 1,489,140 1,627,843 A 138,703
OO2olZ 0 08 0ts =X (800H)
1,489, 140,000& 1,489,140
= 967,941
= 208,480
= 312,719
BEIHSHAY 7,560 0 7,560
Xl 6,048
& 756
= 756
301 LBt A= 7,560 0 7,560
Xl 6,048
& 756
= 756
01 Al E & A 462 7,560 0 7,560
OXNAMINMEBIAEXAIY R0t X & A H]
A 180,0008 » 78 * 6& 7,560
N 6,048
& 756
= 756
BRANE2E N 154,060 54,900 99, 160
201 Bt 1,260 0 1,260
01 AP 22| H| 1,260 0 1,260
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A AMIEX
HHM: HH - EF SAMHA M3
Ee: 2EO BEFAHA HE (e H)
SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
oggx4 1,260
~-BSEUIAS BHLY
70,0008 * 9 x 23] 1,260
301 et A= 2,000 2,000 0
09 HAIAHI BAZ 2,000 2,000 0
OEBSANESAMAH IS EAI AHEA
50,0003 * 20¥ * 23| 2,000
307 QI2t0| ™ 138,800 40,900 97,900
11 Al EXAIEEX 138,800 0 138,800
OXEXNANHSIO0IE W wPAH|
600,000 94 & 5,400
BFANE SAA H3435 L HAX AE
10,000,000& 10,000
O1.3MLl LS AIE
150,000 100 A +23] 3,000
BSANE MPIAHEZZ )Y 229
100, 000& *25JH & 2,500
OBSAIY ots2tAlH|
400 *1,200H 20 x 12€ 115,200
OFSTAN0E ez
300,000 » 9 A& 2,700
401 Al HI L £ 0HHI 12,000 12,000 0
01 Al& B 12,000 12,000 0
O=2388oelold =0 8 W2+
12,000,000& 12,000
JdeotErE XN 3,275,528 3,739,525 AN 463,997
= 2,129,093
& 458 574
= 687,861
307 gizto| A 3,275,528 3,739,525 AN 463,997
= 2,129,093
& 458 574
= 687,861
11T A EXAIEEX 3,275,528 3,739,525 AN 463,997
O9R0t 222 XY (1,200H)
3,275,528,000& 3,275,528
= 2,129,093
= 458 574
= 687,861
228 EFAE X 16,240 91,392 ANT5,152
= 8,120
& 3,248
= 4,872
307 gizto| & 16,240 91,392 NT5,152
= 8,120
& 3,248




Akl = X1 ot
oy - 258 SXNAHHA WS
2HO EBSMHHA MBS
SN HH - (EH) - HRAY - BES il
= 4,872
10 ALSISXAIEEE2EHEX 16,240 ,392
O338 EsAE XA (1IHA) 16,240,000 16,240
= 8,120
= 3,248
T 4,872
3~5M F2ltd 258 K& 1,358,019 019
< ,358,019
307 gl2tol & ,358,019 019
< ,358,019
T M SXALSEE X ,358,019 019
O35M 2l B2 X (500)
1,358,019,000& 1,358,019
< ,358,019
OtOIALE 22 Z2LIHE K& 9,364 , 364
= 4,682
< 1,873
= 2,809
307 21201 A 9,364 , 364
= 4,682
< 1,873
[ia 2,809
T M SXAEE X 9,364 , 364
OO0t0IALE 222LIHE XI& 9,364,000 9,364
= 4,682
=) 1,873
i 2,809
sz =29 198,094 ,067
OMs2NRE 174,294 047
201 ¢er24| 154,706 161,471
01 AF22t2l bl 134,178 133,653
Oget=gH| 11,818
— AIRHIE 2 1,000,000& = 12l 1,000
—EBEsEN 7Y 36,000& * 17=FA 612
—SEHNsSE 7Y 1,300& = 5004 » 123 780
—&dEAE7 7Y 100,000& =+ 53l 500
—Hd3 2t RPUAITBAIAY SAH|
133, 100& * 122 1,598
—dJjtEEeIAZ 100,000& * 122 1,200
— &) oz 45,000 = 123 540
—St¥4 EIAUSSHI 38,000& 123 456
—d22)| A5 17,0003 = 3CH = 123l 612
—goAs HE2 100,000& * 63l 600
— AHAE B EYH| 600,000& * 12 600
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AN ALEI =X

HHM: HH - EF SAMHA M3
Sel N5 2Y CERED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
—oldsie o 2IEY ¥ 225 NN
1,700 = 3000 * 23| 1,020
— SHAF E=9 HE 70,000& = 10 700
—E2= Mz 2,000& * 3008 600
—HBALERA RS 7Y
200,0008 * 53| 1,000
o494 120,560
— A3 e AAES 118,880
el s
40,000 = 3AI2F = 122 = 9 12,960
oo 2AHA
40,0003 = 3AI2F » 122 x 9& 12,960
- IHECI AR A
40,000 = 3AI2F = 82 x 9 8,640
IE2elAl & MEHOIAZUH
40,000 = 3AI2F = 82 x 9 8,640
IsdddsEE & g3 A
40,000 = 3AI2F = 82 x 9 8,640
SEHSI 22DE
40,000 * 3AI2F = 42 x 9”& 4,320
HiulshEeE=ss E
40,000 * 3AI2F = 42 x 9”& 4,320
OB
40,000 = 3AI2F = 122 = 9 12,960
OlgttA 40,0008 = 3Al2F » 82 « 9 8,640
oA D
40,000 * 3AI2F = 122 % 9& 12,960
QIFI A (OF2tEH)
40,000& = 2Al2t » 82 x 98 5,760
DBt A DFA (0F2HEH)
40,0004 = 2Al2t » 82 x 9& 5,760
S 20l A (0F2HEE)
40,000 = 2Al2t » 82 x 9& 5,760
LY AMESI} 28 B E (0F2HEH)
40,000 = 2Al2t » 82 x 98 5,760
B0 I = e T el A g N 200,0008 * 43| 800
~HUR0MD NSRS Blo BAH &g
1298 = 70,0008 * 23| 1,680
OF=1=1:] 1,000
—Of2tEt =¥ L HFEFX 1,000,000 1,000
OYdxz 800
— MEEASOtR HAX A
800,000& ~ 1CH 800
02 22244l 20,528 27,818 AT,290
O332=2 % HA 14,528
—&I|2 11,603
JlEgs 6,160% * 90kw » 12& 6,653
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AN ALEI =X

HHM: HH - EF SAMHA M3
e dg s 29 (2 &HH)
- - _ L3
SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
S (8,018) 708 x 3,000kw *» 6E 1,260
MES(HE) 1102 * 6,000kw ~ 3 1,980
ANE2(AHE) 952 % 6,000kw * 3& 1,710
— AT AIE S 1,150 ~ 80m » 12& 1,104
—xgsgs= 11,000& ~ 208 ~ 12& 264
— oY AIEE 30,000& = 123 360
— BN EES(AILE) 100,000 * 23| 200
— AgtorM 22| X+ Sl 100,000& * 18§ 100
—HeE QLELENHE 13,500 * 25m x 13| 338
—S83 AHAH| 13,0008 * 25E * 13 325
—RERZ 390 * 3009 * 23| 234
O 2| 1,500
— EAHEASH| 500,000& * 33| 1,500
OA & &l & XYl 4,500
— WHLE )] X2 2lH] 1,000,000& 1,000
— A Eaz 1,000,000 * 13 1,000
— EAAE KX 22| 500,0008 * 53| 2,500
202 o4 | 3,600 3,600 0
01 2Ll 3,600 3,600 0
Ods2E L2 =& 150,000& = 29 = 12&€ 3,600
206 T 2 bl 15,988 16,976 988
01 X2 Hl 15,988 16,976 A\ 988
Oon=s8 M= 15,188
—ZUAE M=
10,0008 * 24Y = & * 23] 2,400
— 2l WA LPGIFA 49,0008 » 2E * 63 588
—ol0ISAUE S
10,000 * 20 = HE€l * 23| 2,000
—ECXUE M=
10,000 * 20 = 58 * 23| 2,000
— I 8222AINE L MEHOIALUE MHE
7,0008 * 20 * 52’ * 23| 1,400
—0lgAE M=
7,0008 * 20 * 5"’ * 23| 1,400
— Aol & 7,000& * 20 * 5”&l x 23] 1,400
—Z)|=nsUd ME
10,000 = 50¥ «* 23| 1,000
— A3 2N =ENE MW=
10,000 = 50¥ «* 23| 1,000
— XEXMAG HE 2,000,000& = 13| 2,000
O8lZas M (0|2Et 2 2A2E)
800,0008 * 13| 800
=S ME0l2 SAIES 3,000 3,220 A 220
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SN ALSI S X
g 0d - 258 SAAMHA M3
Sel N5 2Y CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
301 et a = 3,000 3,220 A 220
09 HALAHIE& S 3,000 3,220 A 220
OXEEASO2l DF(AS)EA HH|24
10,000& = 60H * 23| 1,200
O3 SAts0tel S4ldl X2
7,000& = 20¥ = 103l 1,400
OZMAZ LS HAS FAK AU 24
50,000& = 4H « 23| 400
Hasl2 Al ztel 800 800 0
405 XHoHF S HI 800 800 0
01 AL ESFH S 800 800 0
O JtAdelXl S HE #+&  200,000& * 44 800
Heggat 29 20,000 15,000 5,000
201 L2l 10,400 5,400 5,000
01 At 22l 8,400 5,400 3,000
oggat 249 8,400
— &Y g8 2 150,000& * 30 4,500
— o948 2 500,000& * 23] 1,000
— & U3 2 100,000& * 53] 500
— &Y s Al 200,000 * 12& 2,400
03 & Ar2 Gl 2,000 0 2,000
OFIIAH=3 A 2,000,000 * 13 2,000
301 YerE A 9,600 9,600 0
09 HALAHIEA S 3,000 3,000 0
OLEaC dAEA AHIE4
10,000& = 30H * 102l 3,000
NJIEEd=s 6,600 6,600 0
ondgad 24 6,600
— &Y AT = 350,000& = 123 4,200
— &Y g0 = 200,000 = 12& 2,400
OlS - B4 25 L ANSH 6,339,371 5,985,926 353,445
2 669,030
Xl 1,073,832
J| 64,551
< 600,628
e 3,931,330
dAdE B4 2,877,154 2,675,312 201,842
= 106,440
Xl 1,020,000
J| 64,551
< 40,963
e 1,645,200
NZEALAESENEAMN 29 118,916 116,794 2,122
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AN ALEI =X

5
HM: Ol - HAE BS o HE=A
A

el AW 2584 (ol @)
SA - BB B (EH) - NRAY - BES of & o SSa HI D2

Jl 36,326
= 2,530
s 80,060

101 @124l 62,916 60,794 2,122
Il 23,400
s 39,516

04 DIt Z22XsSE* 62,916 60,794 2,122
OAASKAAHE 2AH| 54,996
—Jl2= 1,166,990& = 22 » 128 28,008
J| 10,499
= 17,509
— JHAXI &8l 1,166,990& /2 * 28 « 53] 5,835
Il 2,747
[a 3,088
—Jlg=g 1,166,990 /2 * 2F « 43] 4,668
Il 2,198
a 2,470
— &5t 1,166,990& /2 * 2F = 23] 2,334
— A Z Al 110,000& * 28 = 123 2,640
Il 1,320
s 1,320
— WS 2 XY 120,000& * 2& » 12& 2,880
Jl 1,440
= 1,440
— GOt E &l 1,166,990% /30 » 2 * 15 1,167
Il 549
= 618
— =2 54208 + 2F « 50h = 12E 6,504
Jl 1,837
a 4,667
—JlEt=¢ 80,000& » 12& 960
Jl 480
= 480
o4t 2= 6,720
—HzEEs 120,000& * 28 = 123 2,880
Il 1,080
= 1,800

—2d2 ¥ HIRALEE
140,000& * 29 » 128 3,360
Il 780
s 2,580
—NE228 20,0008 = 2&8 = 12& 480
J| 120
= 360
Ous & 2a3X& ol

50,000& = 28 = 12& 1,200
J| 350
a 850

_36_




| = Xl o

AtZ]

2N

&

o o (@) o o o (@] o
A0
Klo
El
E=]
g g g g gl1g |8 g
5 2 s s Sl I R
LH 3r
uilEd
RS
o O O < o o O O M M~ O O~ M O n - — o O O o O o — O ™M o o o o o o o O o o o o O o o o
o AN M < o o O O IO O O OO © WU o w o O O O O O M~ O < o o o o o o O O o o o o O O o o
S FWo|E & OIMTYTO O OeS Q XmN O LLS S S LN~ S & & S S S S5 |S & &S vWm|S S
— O N o ()] o o ©O© — <t w0 o N — < < ™ o o o w ) n — < [aV] N (V) o O © ™ ©
[ep] (V] (V] — [a\] — (V)
aor
<
=)
S S W S W LRI =W S W = ~
on il o ] o] o o on o
S 8 S 2 o} 8 S 8 8
S S S N oo S 30 S S S
or 8 8 S 50 oF 80 S U IS 8 S
X0 S S S 3 S nS S S
_ D o Mo g0
* wT * W ! ™ 0H
3D ] S HE oo
= WS s U0 o 0
S i o D = 1
I N ER= = O ad a_
B3 0o ior =" - H
o U0 _ A
- a1 o [0 5K = Mm ok = %
= o i = = - = m o M o K R
ol R o = = 5 = OF m X ® B N
o o o = 20 or) o o = A o =] 3 A
& B T 00 0o A0 O 5 0 = T " 3 R KR no |&rmr <z ®
- 0 o <o oY) by = <F b r B0 O 1 80 M o 20 (R0 | & 20 =
- 0H on X il o = B0 U0 o T = A ) H|H A5 R0 WIT
I Y o o | | | o Mo = R 5 e WA &~ x
R0 an < O O f0 O w0 O al|< O |al al O
: ) S S 3 S | o 5 S
= & < S1|° B <

_37_



= _ — d =
HE - B (3H) - KISAY - BYS 0l &t o il HImEET
J| 1,000
s 5,000
Ogfu=EHMe 227 17,000, 000& 17,000
J| 5,500
s 11,500
Fad Ad=H 87,650 50,030 37,620
202 44l 5,400 7,200 A 1,800
01 SLHOIYI 5,400 7,200 A 1,800
O0tsdEAY HRF=& 150,000 * 3H 12 5,400
203 YR =&l 2,250 2,250 0
03 AIF=XH R = AH| 2,250 2,250 0
OootsdEarYd 23KA 150,000& * 153 2,250
301 et a s 3,000 3,000 0
09 &AL HI B A S 2,000 2,000 0
OdAL & WA A 24
200,000& * 103l 2,000
IARPAS =S = 1,000 1,000 0
OFAYE Rollda MO 100,000 * 102 1,000
307 21201 A 30,000 30,000 0
02 It S AHE L 30,000 30,000 0
OALAE FAH LtAtd MEZ=20Y
20,000, 000& 20,000
OSclnZ AA 22l At
10,000, 000& 10,000
405 XtAHE SHI 47,000 7,580 39,420
01 AR ESFH S 47,000 7,580 39,420
OGUIALFIRESE HIS P2 5,000
— A28 BFH 5,000
OFEHAEIR3E HIS | 2,000
—ARE ZFH 1,000, 000 *1CH 1,000
—Ccctve 2ud 600,000& = 1CH 600
—ARE 2UH 400,000 «1CH 400
OFE3AdH2 HE Y 40,000,000 40,000
HFAE LU= 03O0 214,158 214,158 0
= 81,500
< 23,625
[ia 109,033
307 21201 A 214,158 214,158 0
= 81,500
< 23,625
s 109,033
05 BIZERI & 3 214,158 214,158 0
OFAg&u= Ot3tOl0l 214,158,000& 214,158

_38_




2N
X ZH -
L= B

el

NEEpin
Os- HA4d 25 U AMSH
A

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
= 81,500
< 23,625
e 109,033
FAERsE AE29H XA 297,630 285,000 12,630
307 glz2tol & 297,630 285,000 12,630
05 RIZHRI &3 297,630 285,000 12,630
OFAHEESY 234 X 297,630
—HEELE2SE 169,030, 000& 169,030
—JUELEHESE 128,600,000 128,600
SEIZNH2Y & 43 N 60,000 60,000 0
= 5,500
e 54,500
307 21201 A 60,000 60,000 0
= 5,500
i 54,500
02 QB LA EX 60,000 60,000 0
O&FAdEANd 2208 2435 N&
60,000, 000& 60,000
= 5,500
[ia 54,500
FaEsEAE NEX X 38,880 38,880 0
= 19,440
e 19,440
307 glz2+ol & 38,880 38,880 0
= 19,440
fia 19,440
02 QIZtE M AHE X 38,880 38,880 0
OS3FAYU=EHAE XZX BIX
38,880,000& 38,880
= 19,440
[ 19,440
dad Bs @ A& 22,800 17,800 5,000
< 1,220
i 21,580
301 et d = 17,800 17,800 0
< 1,220
i 16,580
09 HALAHIE& S 17,800 17,800 0
O&dA24d d&gsHl X 2,400,000 2,400
< 720
s 1,680
OSY FAUXNERE 448 dE23H X2
1,000,000& » 145¢ 14,000
< 500
[ia 13,500
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2N
X ZH -
L= B

el

= _ — d =
- B (3H) - NRAY - BES e 2
OFAYE KRtz &=l
100,000& * 145™ 1,400
307 glz2+ol & 5,000 0 5,000
03 QIAHMNHE2IHIEE 5,000 0 5,000
OFAHEXNERAFE S 203 & 234l X
& 5,000,000& 5,000
SEHA ZE2 64,800 63,600 1,200
J| 25,175
< 12,588
s 27,037
o124 dl 58,800 57,600 1,200
J| 22,721
< 11,322
s 24,757
JIZtHZ22HsE+ 58,800 57,600 1,200
O& L 1,870,000& * 19 » 123 22,440
J| 8,761
= 4,623
i 9,056
OAIZHA 820,000& = 3% = 123 29,520
J| 11,960
< 5,940
= 11,620
O 4t E 270,000& 123 3,240
J| 1,000
< 500
[ia 1,740
Ousdl XA 3,600
— &L 150,000& * 1Y » 123 1,800
J| 1,000
s 800
— AI2HHI 50,000& = 3H « 128 1,800
< 259
i 1,541
2 et A | 6,000 6,000 0
J| 2,454
< 1,266
s 2,280
At 2t el | 4,000 4,000 0
Oget=gHl 4,000
—HAESEL MRES L At & A 2HA
- 2,100,000& 2,100
J| 413
< 706
s 981
—HAUSHI EEES 1,900, 000& 1,900
J| 1,121
< 560
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2AM: A=K
MM OlE - HAWEH B U HA
SEEE-PNENCEEY

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
o 219
03 &AL2 I 2,000 2,000 0
OHAUSEL 23ME &= 2,000,000 2,000
J| 920
[ia 1,080
AUEXE 220= 2,000 0 2,000
= 1,000
[ia 1,000
201 Let24d] 2,000 0 2,000
= 1,000
[ia 1,000
03 A2 S HI 2,000 0 2,000
OXMEXE 220= 2,000,000& 2,000
< 1,000
i 1,000
EAEHENHARS 29 3,500 3,500 0
J| 1,750
s 1,750
201 LB-2E| 3,500 3,500 0
J| 1,750
s 1,750
01 At 2t 2l 3,500 3,500 0
O el 2,000
—ANREF 7Y 2,000,000& 2,000
J| 1,000
s 1,000
Oo=24d=+¢ 1,500
—HEZELAHEHMARZE A
1,500, 000& 1,500
| 750
[ia 750
FEEAGSE2 AHEY 1,920,000 1,772,000 148,000
Xl 1,020,000
e 900,000
401 Al BHIZ 201 8] 1,920,000 1,763,000 157,000
Xl 1,020,000
e 900,000
01 A& HI 1,920,000 1,763,000 157,000
OFEIEA~YE 2 HE 1,920,000, 000& 1,920,000
X 1,020,000
s 900,000
FA4 s0tg A 25,000 25,000 0
307 21201 A 25,000 25,000 0
04 DIZHHALALSE E X 25,000 25,000 0




2AM: A=K
HM: Ol - HAE BS o HE=A
A

ool 3ad BSRY (9 ® =)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OHM15sl &z HAYH SUHEEH
25,000, 000& 25,000
FAE otAHBE 23 10,000 10,000 0
307 glz2+ol & 10,000 10,000 0
04 QIZFHALAIH E = 10,000 10,000 0
OFAY StHAEZ &3 10,000, 000& 10,000
'1388" EAHE HS0tE 10,000 10,000 0
307 glz2+0l & 10,000 10,000 0
04 QIZFHALAIH B = 10,000 10,000 0
O"1388"&8 a4 20t 10,000, 000& 10,000
Fad SEXNAEY 1,820 0 1,820
J| 1,300
[ia 520
301 LAz 1,820 0 1,820
J| 1,300
s 520
01 Mel28E+06l= 1,820 0 1,820
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